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2005年全国攻读工商管理硕士学位研究生入学考试

英语模拟考试试题7
Section I  Vocabulary

Directions: There are 20 incomplete sentences in this section. For each sentence there are four choices marked A, B, C and D. Choose the one that best completes the sentence and mark your answers on ANSWER SHEET 1. (10 points)

1. We have received the full ______ specified in the sales contract signed last year.


A. consideration
B. dole
C. certificate
D. franchise

2. We ______ a slight difference in his style of writing when we read his newly-published novel.


A. distinguished
B. identified
C. notified
D. perceived

3. We are going to reserve the right to ______ compensation from you for any damage.

A. charge



B. claim 


C. check



D. circulate

4. The manager began right away looking in the advertisement ______ of the China Daily.

A. corner



B. comment


C. column


D. chapter
5. Punctual payment of the principal of and interest on all bonds, ______, notes, and securities may be enforced.

A. debentures

B. debts



C. discounts


D. deficits
6. Though they disagreed on details, they were in ______ agreement on the plan.

A. thorough


B. full



C. particular


D. supreme
7. The chairman said he supported that country’s ______ into the Organization for Economic Cooperation and Development.


A. deposit
B. gravy
C. entry
D. kickback

8. It is difficult to ______ the birth-rate from the number of children attending school.


A. evaluate
B. calculate
C. form
D. estimate

9. We are doing our utmost to get the goods off before the relative credit ______.

A. integrates

B. floats


    C. industralizes

D. expires
10. A large sum of money has been raised for the ______ of the poorly-educated children in the mountainous districts.


A. advantage
B. benefit
C. favor
D. profit

11. It is obvious that some food items are given a 70% ______ between producer and supermarket.


A. markup 
B. mortgage
C. indulgence
D. credit

12. Ironically, the protective law does not cover the type of worker who most ______ needs the protection.

A. necessarily


B. obviously

C. surprisingly

D. exclusively
13. Would you please tell us whether ______ is allowed by the customs on the exportation of the goods?

A. increment


B. leasehold

C. drawback


D. margin
14. I heard that such skirts were coming back into fashion, I wondered if the would really ______ again.

A. catch up


B. catch out


C. catch on


D. catch up with
15. The union leaders and the management are ______ a new wage increase in the hall.

A. absorbing


B. bartering

C. affiliating


D. bargaining 
16. Industry has found new uses for old, well-known ______ such as mercury and lead.

A. substances

B. matters


C. things



D. materials
17. Is your company entitled to a reduction or ______ from corporate income taxes in respect of the income earned on the exports?

A. exemption

B. excise



C. freight



D. overdraft
18. When two people feel the way about each other, their feelings are ______.


A. liable
B. mutual
C. visible
D. typical

19. The contract contains a ______ clause which fines the company 1% for every week the completion date is late.


A. override
B. perk
C. penalty
D. withdrawal

20. Being both spoilt and lazy he ______ everyone else for his lack of success.


A. accused
B. criticized
C. charged
D. blamed

Section II  Cloze

Directions: Read the following passage. For each numbered blank there are four choices marked A, B, C and D. Choose the best one and mark your answers on ANSWER SHEET 1. (10 points)

There is nothing illogical or synthetic about the humility of great bookmen in calling attention to the limitations of the book. No book can   21   us to know everything that is to be known, or feel everything that is to be felt. A book is part of life, not a substitute   22   it. It is not a fit   23   for worship or enshrinement. It loses its charm and much of its value when accepted uncritically. No one would have been more   24   than Aristotle if he could have known of the excessive and   25   veneration that would be given to his ideas in centuries to   26  . When his works became the last words of advance knowledge, such knowledge became neither advanced nor vital.

The particular occasion for these remarks is that there are   27   here and there that some of us in the book world may be   28   ourselves too seriously. In the effort to increase book reading some extravagant things are being said about books. It is made to   29   that nothing is happening now that has not happened before, and that the only true approach to understanding is   30   books. We do neither service nor justice to books by   31   upon them such omnipotence and omniscience. Many of the answers we need today are not necessarily to be found between   32  . There are elements of newness in the present   33   of man that will not readily be disposing of by required reading or ready reference. Books are not slide rules or blueprints for   34   automatic answers. What is needed is a mighty combination of the wisdom of the ages   35   fresh, razor-edged analytical thought.
21. A. inform
B. promise
C. enable
D. train

22. A. of
B. for
C. to
D. at

23. A. subject
B. issue
C. matter
D. image

24. A. disturbed
B. disguised
C. intervened
D. interrupted

25. A. dreadful
B. respectful
C. harmful
D. fruitful

26. A. go
B. come
C. pass
D. emerge

27. A. traces
B. signs
C. marks
D. trails

28. A. confirming
B. demanding
C. taking
D. pushing

29. A. show
B. appear
C. prove
D. indicate

30. A. through
B. with
C. among
D. from

31. A. concentrating
B. conducting
C. imposing
D. installing

32. A. pages
B. covers
C. lines
D. rows

33. A. position
B. situation
C. status
D. dilemma

34. A. polishing
B. regulating
C. furnishing
D. forwarding

35. A. from
B. with
C. over
D. by

Section III  Reading Comprehension

Directions: Read the following four passages. Answer the questions below each passage by choosing A, B, C and D. Mark your answers on ANSWER SHEET 1. (40 points)

Passage One

Because agriculture is so important to a nation’s well-being, governments have always been concerned with it. For example, the United States and Canada have long produced surpluses that complicate their economies. Surpluses tend to lower prices to farmers and seriously endanger the agriculture industry. Governments have instituted systems of price supports to maintain a fair price when surpluses cause prices to drop. The system in the United States is a good example. A government program supports the prices paid to farmers for grains, and other agricultural products.


Support prices are based on parity, which is the ratio between the prices farmers receive for their crops and the prices they must pay for things they need. The government selected the period from 1914 to 1919 as a time when farm prices were in a fair ratio with farming costs. This is the base period now used to determine parity prices.

The idea is to assure farmers that what they get for a bushel of wheat will buy the same amount of, say, seed as it did in the years of the base period. If prices drop too far below this ideal the government can help in a number of ways. For example, it may buy much of a surplus at parity prices. Governments have instituted a wide variety of other controls for prices and, also, for farm output, mainly at the request of the farmers themselves. Farm prices tend to fluctuate more than other price do, and the incomes of farmers fluctuate along with farm prices.


Various measures for maintaining farm prices and incomes include tariff or import levies, import quotas, export subsidies, direct payment to farmers, and limitations on production. All of these measures are useful and are used to some extent by most developed countries. An important example of such a program is the soil-bank plan, which aimed at limiting production while improving farmland.


The European Economic Community (EEC) established a common agricultural policy (CAP) for its member nations, called the Common Market countries. The aim is to create free trade for individual commodities within the community. When production of a commodity exceeds EEC consumption, the EEC may buy the excess for storage, pay to have it reprocessed, or export it to countries outside the Common Market. In this way the EEC can maintain its members’ farm prices at levels equal to or even higher than those in such market-competitive nations as the United States and Canada.

36. By saying that a country’s agricultural surpluses often “complicate” its economy, the author means ______.

   A. they throw the country into great disorder

   B. they entail more expenditure on the part of the government

   C. they usually involve direct governmental support price

   D. the government has to set up special pricing systems

37. According to the passage, the parity system is used to ______.

   A. encourage farmers to produce more grains in the future

   B. lower the cost of producing agricultural product

   C. determine the prices below which grains will not be sold

   D. ensure that the farmers’ interest is properly protected

38. It can be inferred that the common agricultural policy aims to ______.

   A. avoid competition among its member nations

   B. limit production and improve farmland

   C. ensure a balance between production and consumption

   D. encourage free competition among its member nations

39. Why do governments show special concern for agriculture?

   A. Because farms prices go up and down constantly.

   B. Because farmers usually earn less than other income groups.

   C. Because there isn’t much arable（可耕的）farmland left.

   D. Because farmers are confronted with fiercer competition.

40. The passage is mainly concerned with ______.

   A. a nation’s well-being and its agriculture    
B. prices of the agricultural products

   C. functions of the agricultural products’ prices  
D. means and significance of maintaining farm prices

Passage Two

Is language, like food, a basic human need without which a child at a critical period of life can be starved and damaged? Judging from the drastic experiment of Frederick II in the 13th century it may be. Hoping to discover what language a child would speak if he heard no mother tongue, he told the nurse to keep silent.


All the infants died before the first year. But clearly there was more than language deprivation here. What was missing was good mothering. Without good mothering, in the first year of life especially, the capacity to survive is seriously affected.


Today no such drastic deprivation exists as that ordered by Frederick. Nevertheless, some children are still backward in speaking. Most often the reason for this is that the mother is insensitive to the cues and signals of the infant, whose brain is programmed to mop up language rapidly. There are critical times, it seems, when children learn more readily. If these sensitive periods are neglected, the ideal time for acquiring skills passes and they might never be learned so easily again. A bird learns to sing and fly rapidly at the right time, but the process is slow and hard once the critical stage has passed.


Linguists suggest that speech milestones are reached in a fixed sequence and at a constant age, but there are cases where speech has started late in a child who eventually turns out to be of high IQ (Intelligence Quotient). At twelve weeks a baby smiles and utters vowel-like sounds; at eighteen months he has a vocabulary of three to fifty words. At three he knows about 1000 words which he can put into sentences, and at four his language differs from that of his parents in style rather than in grammar.


Recent evidence suggests that an infant is born with the capacity to speak. What is special about man’s brain, compared with that of the monkey, is the complex system which enables a child to connect the sight and feel of, say, a teddy-bear with the sound pattern “teddy-bear”. And even more incredible is the young brain ability to pick out an order in language from the hubbub of sound around him to analyze, to combine and recombine the parts of a language in novel ways. But speech has to be triggered, and this depends on interaction between the mother and the child, where the mother recognizes the cues and signals in the child’s babbling, clinging, grasping, crying, smiling, and responds to them. Insensitivity of the mother to these signals dulls the interaction. The child gets discouraged and sends out only the obvious signals. Sensitivity to the child’s non-verbal cues is essential to the growth and development of language.

41. Frederick II’s experiment was “drastic” because ______.

   A. he wanted to prove that children are born with the ability to speak

   B. he ignored the importance of mothering to the infant

   C. he was unkind to the nurses

   D. he wanted to see if the children would die before they reached the age of one

42. The reason why some children are backward in speaking today is that ______.

   A. they do not listen carefully to their mothers

   B. their brain has to absorb too much language at once

   C. their mothers do not respond to their attempts to speak

   D. their mothers are not intelligent enough to help them

43. By “critical times” the author means ______.

   A. difficult periods in the child’s life

   B. moments when the child becomes critical towards its mother

   C. important stages in the child’s development

   D. times when mothers often neglect their children

44. Which of the following is NOT implied in the passage?

   A. The faculty of speech is inborn in man.  

B. Children do not need to be encouraged to speak.

   C. The child’s brain is highly selective.  


D. Most children learn their language in definite stages.

45. If the mother does not respond to her child’s signals, ______.

   A. the child will never able to speak properly  
B. the child will stop giving out signals

   C. the child will invent a language of its own  
D. the child will make little effort to speak

Passage Three

Researchers are finding that boys and girls really are from two different planets. Boys and girls have different “crisis points,” experts say, stages in their emotional and social development where things can go very wrong. Until recently, girls got all the attention. But boys are much more likely than girls to have discipline problems at school and to be diagnosed with Attention Deficit Disorder (ADD). Boys far outnumber girls in special-education classes. They’re also more likely to commit violent crimes and end up in jail.


Even normal boy behavior has come to be considered pathological（病态的）in the wake of the feminist movement. An abundance of physical energy and the urge to conquer－these are normal male characteristics, and in an earlier age they were good things, even essential to survival. “If Huck Finn or Tom Sawyer were alive today,” says Michael Gurian, author of “The Wonder of Boys”, “we’d say they had ADD.” He says one of the new insights we’re gaining about boys is a very old one: boys will be boys. “They are who they are,” says Gurian, “and we need to love them for who they are. Let’s not try to rewire them.”


But what exactly is the essential nature of boys? Even as infants, boys and girls behave differently. A recent study at Children’s Hospital in Boston found that boy babies are more emotionally expressive; girls are more reflective. (That means boy babies tend to cry when they’re unhappy; girl babies suck their thumbs.) This could indicate that girls are innately more able to control their emotions. Boys have higher levels of testosterone and lower levels of neurotransmitter serotonin, which inhabits aggression and impulsivity. That may help explain why more males than females carry through with suicide or become alcoholics.


There’s struggle－a desire and need for warmth on the one hand and a pull toward independence on the other. Boys are going through what psychologists long ago declared an integral part of growing up: individualization and disconnection from parents, especially mothers. But now some researchers think that process is too abrupt. When boys repress normal feelings like love because of social pressure, says William Pollack, head of the Center for Men at Boston’s McLean Hospital, “they’ve lost contact with the genuine nature of whom they are and what they feel. Boys are in a silent crisis. The only time we notice it is when they pull the trigger.”
46. Which of the following is NOT true according to the first paragraph?

   A. Boys and girls are different.



B. Boys need more attention than girls.

   C. Girls almost need no help from society.   

D. Boys are more difficult to educate than girls.

47. What can be inferred about Tom Sawyer and Huck Finn (Para. 2)?

   A. They were more like today’s girls than boys.

   B. They suffered Attention Deficit Disorder but were not diagnosed.

   C. They were energetic and conquering.

   D. They had more problems than today’s boy.

48. The word “rewire” (Para. 2 ) could best be replaced by ______.

   A. restore to a former condition



B. recognize the worth of

   C. change the nature of





D. address the problems of

49. Which aspect of boy-girl differences does paragraph 3 discuss?

   A. Physiological.

B. Psychological.

C. Cultural.


D. Intellectual.

50. It is implied in the passage that ______.

   A. society approves of boys who have tender feelings

   B. society expects boys to be independent

   C. boys take more time to grow up than girls

   D. boys and girls can never receive similar treatment

Passage Four

Modern liberal opinion is sensitive to problems of restriction of freedom and abuse of power. Indeed, many hold that a man can be injured only by violating his will, but this view is much too narrow. It fails to recognize the great dangers we shall face in the uses of biomedical technology that stems from an excess of freedom, from the unrestrained exercise of will. In my view, our greatest problems will be voluntary self-degradation, or willing dehumanization, as the unintended yet often inescapable consequence of sternly and successfully pursuing our humanization goals.


Certain desires and perfected medical technologies have already had some dehumanizing consequences. Improved methods of resuscitation（复苏）have made possible heroic efforts to “save” the severely ill and injured. Yet these efforts are sometimes only partly successful. They succeed in rescuing individuals but these individuals may have severe brain damage and be capable of only a less-than-human, vegetating existence. Such patients found with increasing frequency in the intensive care units of university hospitals, have been denied a death with dignity. Families are forced to suffer seeing their loved ones so reduced and are made to bear the burden of a prolonged “death watch”.


Even the ordinary methods of treating disease and prolonging life have changed the context in which men die. Fewer and fewer people die in the familiar surroundings of home or in the company of family and friends. At that time of life when there is perhaps the greatest need for human warmth and comfort, the dying patient is kept company by cardiac pacemakers and defibrillators, respirators, aspirators, oxygenators, catheters（导尿管）and his intravenous（静脉的）drip. Ties to the community of men are replaced by attachments to an assemblage of machines.


This loneliness, however, is not confined to the dying patient in the hospital bed. Consider the increasing number of old people still alive thanks to medical progress. As a group, the elderly are the most alienated members of our society. Not yet ready for the world of the dead, not deemed fit for the world of the living, they are shunted aside. More and more of them spend the extra years medicine has given them in “homes for senior citizens”, in hospitals for chronic diseases, and in nursing homes－waiting for the end. We have learned how to increase their years, but we have not learned how to help them enjoy their days. Yet we continue to bravely and sternly push back the frontiers against death.

51. What is the main point of the passage?

   A. The problem of restriction of freedom.

   B. The possible dehumanizing consequence of medical technology.

   C. The development of biomedical technology.

   D. The significance of prolonging human life.

52. According to the author, biomedical technology ______.

   A. results in an excessive use of freedom

   B. brings little benefits to human beings

   C. should not be applied in medical treatment

   D. might cause grave negative consequences in its application

53. Which of the following is NOT true according to paragraph 2?

   A. Improved medical technology can save extremely severe patients.

   B. Some patients, though saved, can no longer lead a normal human life.

   C. Families often suffer when some patients maintain a vegetating existence.

   D. To a patient, survival is always better than death.

54. By saying “they are shunted aside” (Para. 4), the author means they are ______.

   A. all sent to homes for senior citizens   

B. completely isolated from the outside world

   C. treated with extreme indifference   


D. shut from their families

55. Which of the following is NOT mentioned in the passage?

   A. More and more elderly people spend their extra years in hospitals.

   B. More and more elderly people spend their extra years in nursing homes.

   C. More and more elderly people spend their extra years at home.

   D. More and more elderly people spend their extra years in special homes for elderly people.

Section IV  Translation

Directions: In this section there is a passage in English. Translate the five sentences underlined into Chinese and write your translation on ANSWER SHEET 2. (15 points)

Education begins with teachers. 56) Yet teaching seems to be losing its appeal for many of the best and brightest college students; in high school, many of the best students decide that they want to be teachers, but their relatives and friends soon convince them to change their minds. One student’s mother kept reminding her of the relatively skimpy salaries teachers currently earn until the student changed to another major. Another student took computer science courses because his father thought that teachers were at the bottom of the social ladder. One said that none of her friends looked upon teaching as a worthwhile career, so she came to think of teaching as not noble enough and went into pharmacy instead. According to several recent reports on the shortcomings of American public schooling, teaching’s lack of appeal for the brightest college students is one of the teaching profession’s most worrisome problems.


57) Many articles on teaching, currently popular in newspapers, magazines, and professional education journals, concentrate on the negative aspects of teaching; the expression “teacher burnout” is commonly ascribed to thousands of thoughtful and dedicated teachers who are leaving the profession. Teacher burnout is caused by such problems as violence in the classroom, vandalism, inadequate salaries, involuntary transfers, interfering parents, oversized classes, and excessive paperwork. Even the best teachers cannot solve a child’s problems, but many of them believe the public expects them to, and they give up teaching in despair.


58) Despite the more limited financial prospects, the deterioration of the American public’s attitude toward teachers, and the problems caused by disruptive students, many of the best students conclude that they want to pursue careers in the classroom after all. The three students mentioned above discovered that they wanted personal fulfillment from their life’s work more than they wanted material rewards. Each eventually chose to become a teacher. However, a growing body of evidence shows that such students are exceptions, rather than the rule, in America’s more than 1,200 teacher-training programs. Many teacher-training schools are beginning to look at ways to recruit the kind of people who would be inclined toward the positive aspects of teaching. The teaching profession has to become more attractive to good students.


59) Prospective teachers will see increased emphasis by national teacher organizations, state certification agencies, and local districts on improving the status of the profession, as well as on improving teacher salaries. Continued efforts to eliminate jobs teachers do that are not teacher—such as policing the restrooms, hallways, and cafeterias—are important for upgrading the profession.


60) While teaching is not a wise career choice for all, teaching is a noble and rewarding profession for those who indeed seek personal fulfillment from their life’s work. The first year of teaching is frequently the most frustrating year in a teacher’s life. The experience of solving problems that deal with instruction, students, parents, administrators, and fellow teachers is of immeasurable value for future success.
Section V  Writing

Directions: In this section, you are required to write a letter of invitation according to the information given below. You should write more than 150 words neatly on ANSWER SHEET 2. (20 points)
你们公司将在下个星期举办10周年庆典，打算邀请市长出席庆典仪式，公司经理要求你给市长写一封邀请信，告知市长你们公司举办庆典的时间、地点以及活动安排。
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